DIVISION AND MULTIPLYING BY 10s (H - seT 1)
DIVISION BY 1000

Name:

Time:

Score:

20664000 + 1000 =

22792000 < 1000 =

25171000 = 1000 =

20476000 = 1000 =

25805000 == 1000 =

20139000 <+ 1000 =

20860000 =+ 1000 =

25870000 =+ 1000 =

2 82000 = 1000 =

#0-84000 + 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 1
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206000 -+ 1000 =

264000 = 1000 =

521000 —+ 1000 =

312000 = 1000 =

153000 =+ 1000 =

410000 = 1000 =

525000 -+ 1000 =

529000 - 1000 =

443000 + 1000 =

270000 = 1000 =
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